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16=Sep=-1984 01:18:37 AX=11 BLi
16-50:-193& ?2:16:29 DEBUG.SRCS
MODULE DBGIFTHEN (IDENT = 'v04=000') =
BEGIN

COPYRIGHT (c) 1978, 1980, 1982, 1984 BY
DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS.
ALL RIGHTS RESERVED.

THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY BE USED AND COPIED
ONLY IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE AND WITH THE
INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER
COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY
?;xggrgsgggﬂ. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS HEREBY

THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT NOTICE
eggPog:??ha NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT

DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF ITS
SOF TWARE ON EQUIPMENT WHICH IS NOT SUPPLIED BY DIGITAL.
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DEBUG

ABSTRACT:

This module contains the parse and execution networks for the
DEBUG control structures: IF...THEN...ELSE, WHILE...DO,
FOR loops, and REPEAT...DO

ENVIRONMENT :

VAX/VMS

AUTHOR:

Richard Title

CREATION DATE:

1-10-82

VERSION:

v03.0-001

MODIFIED BY:
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i TABLE OF CONTENTS:

FORWARD ROUTINE
DBGSNPARSE _IF
DBGSNEXECUTE

DBGSNPARSE _WH
DBGSNEXECUTE E.
DBGSNPARSE _F

DBGSNEXECUTE

DBGSNPARSE 2

DBGSNEXECUT
! REQUIRE FILES:

]

]

REQUIRE 'sncs:oacPROLog .REQ';
LIBRARY °LIBS:DBGGEN.L32";

3

XTERNAL
dnggb lan?ua
dbg$gb_rad vecroat3 BYTE],
dbg$gb_take_cmd: BYTE
dbg$gl_cishead: REF cisSlink;

EXTERNAL ROUTINE
dbg$def_sym_add,
dostoet-nendr

g$get_tempmem,
dbg$ncis_add
dbg$nget _ syu*d
dbgSnmake_arg_vect,
dbgSnmatch,
dbgSnnext_ uord
dbgSnparse_ expression.
dbgS$nread_name,

i,
Urén
EPEAT
_REPEAT;

db $nsyntox error,
dbg nt{pe _cony,
_memory: NOVALUE,
dngsta lock_symid: NOVALUE ;
MACRO regort error =
EGIN
.nes?a?e vect =

THEN

RETURN stsSk_severe;
ENDX;

F
16=Sep=19 2 ?}:}g:g; AX=11 BLi 3 -32

dbgSnsave_break_buffer: NOVALUE,

DEBUG.SRC

DBSI F

Parse network

Execution network

Parse network

Execution network

Parse network for FOR
Execution network for FOR
Parse network

Execution network

Current Language setting

Radix settings

Flag that controls command taking
Head of command input stream

Add a defined symbol

Allocate permanent memory

Allocates space

Add a Llink to the command input stream

Obtain a symid list

Constructs error messages

Tries to match the next token

Gets next word from input

Laneuage specific expression interpreter
up 3 name

Saves the action clause in a buffer

Reports a syntax error

Language specific type converter

Releases memory from DEBUG memory pool

Lock a symid List

dbgSnmatch (.input_desc, dbg$cs_cr, 1)
sedbgtnnake arg_vect(dbg$_needmore)
dbgSnsyntax_error (dbgSnnext_word (.input_desc)));
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1F THEN 12-Sep-19gk ?1:18:27 AX=11 Bliis-lz V4.0-74 Page &
=000 14=Sep=-1984 12:16:59 DEBUG.SRCIDBGIFTHEN.B3Z:1 (3
}}; 0 23 } GLOBAL ROUTINE dbg$nparse_if(input_desc, verb_node, message_vect) =
}18 § g? } ; Functional Description
121 0 gi 1! ATN parse network for the If verb.
1 g 0 1! This routine takes a verb node for the IF verb, and a string
1 0256 1! descriptor for the remaining (unparsed) input.
} g 8 gS } : A command execution tree is built. The form of the tree is:
1 6 o 59 1 . L L L B L 1 1 o 1 1 1 - L L § L %1 L - e --oooee -_--_-- 444444 302=-— E R K XX X 3 - e e
127 0258 1! ! verb node !==>==! noun node !==>==! noun node ![==>==! noun node ]
1 B 8 59 1 ' -’--‘.---- ........................ -
129 60 1! 7
130 0261 1! The first noun node points to a value descriptor for the IF clause.
13N 0 6§ 13 The second noun node points to a counted string with the THEN clause.
13% 0263 1! The third noun node, which may be absent, points to a counted string
13 0264 1 ! with the ELSE clause.
134 0265 1!
135 0266 1 ! Formal Parameters
136 0267 1 !
137 0268 1 ! input_desc = A longword containing the address of the
138 0269 1 ! command input descriptor.
139 0270 1! verb_node - A lonauord containing the address of the verb node.
140 0271 1! message_vect - The address of a Longword to contain the address
}21 82;% } ; of a standard message argument vector.
1‘§ 0576 1 ! Implicit Inputs
144 0275 1!
145 0276 1! none
146 0277 1!
147 0278 1 ! Implicit Outputs
148 0279 1! )
149 0280 1! On success, the command execution tree is constructed. :
}g? 8%31 } : On failure, a message argument vector is constructed or obtained.
1S§ 028§ 1 ! Routine value
15 0284 1!
154 0285 1! sts$k_success (1) - Success. Command execution tree constructed.
155 0286 1! sts$k_severe (&) - Failure. Error encountered. Message argument
156 0%87 1! constructed and returned.
157 0288 1!
158 0289 1 ! Side Effects
159 0290 1! . ;
160 8 " 1 Permanent storage is allocated for the string holding the THEN
161 ; 1 3 clause; this is released in DBGSNEXECUTE_IF after execution
16; 8 93 1! of the THEN clause.
16 9% 1!
}gg 059 BEGIN
I
167 gs
168 input_desc : REF dbg$stg_desc,
169 00 verb_node : REF dbgSverb_node;
170 01
n 8; BIND
I7§ g dbgScs_cr = UPLIT BYTE (1, dbgSk_car_return) )
17 0304 dbgScs™left_paren = UPLIT BYTE (1, dbgSk”leff_parenthesis),
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H 2
DBGIF THEN 16=Sep=-1984 01:18:37 AX=11 Bliss=32 v4.0-74 Page
V04-000 19-3e0-1986 93:18:2 3 .
dbgScs_else = UPLIT BYTE (&, "ELSE')
dbg$cs_then = UPLIT BYTE (&, "THEN');
LOCAL
link, ! Temporary to Links in the command
; execution tree.
|
)
]
[
4
4

noun_node : REF dbg$noun_node, ! A node in the command execution tree.

radix, ! Holds the current radix setting.

status; ! Holds [tturn status from subroutine
calls.

WIN = OO0 ~NOMNNSS

NN

; Create and Link a noun node

6oun_node = db?Sget tempmem (dbg$k _noun_node_size);

verb_node[dbg${_verb_object_ptrl = .noun_node;

; Determine the current radix.

VNS AN -

radix = .dbg$gb_radix[dbg$b_radix_inputl;

! Obtain a value descriptor for the condition. The first noun node
E points to this descriptor.

STATUS = DBGSNPARSE_EXPRESSION (.INPUT DESC, .RADIX,
NOUN_NODE [DBGSL NOUN_VALUE],
TOKERSK_TERM_THER, .MESSAGE_VECT);

o
U‘N—'OOONOU‘&W—'OO“WU‘&W—'O“Q&W

(V. [N R

The return status should be ''warning’’, meaning that an expression
was parsed and further input reamins. If an exgzession was parsed
but no input remains, then DBGSNPARSE _EXPRESSI

In this context, it is

is an error.

AN AN RN S S S 2 S 2 200
w

L Ul Ul LA U G U U U U U A N U N N R N NN

will return success.
an error since 'If condition'' by itself

oo
38
=l=lelelelaleleslelelelclelelelelelelelelelelalalalelalelalelalelelelel=lel]

1
i
i
i
i
i
If

.Status EQL stsSk_success THEN SIGNAL (DBGS_NEEDMORE);

; Severe status is also an error.
IF .status EOL sts$k_severe
THEN

RETURN stsSk_severe;

PORONY = b b e ed e —d e b

; Eat the THEN
%z :or dbg$nmatch (.input_desc, dbg$cs_then, 1)

BEGIN
.nes?a?

e
l
THE

AORINIRIAINIAI NI NI NIAIAI NI NI A NI NI NI PO R NINI NI N b b b cd b b b b e cd o b cd b o b o e o d o b

A R R B i R R

VIWALVAWAVAAVAVAILVAL B &
=2 OO0 NV N = O VNV S W = OO0~

NOWVB AN =OVRNOWSWN—=O
N

vect =
gngnnatch (.input_desc, dbg$cs_cr, 1)
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dbg$nmake_arg_vect (dbg$_needmore)
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ELSE
dbgSnsyntax_error (dbg$nnext_word (.input_desc)));

RETURN stsSk_severe;
END;

; Allocate and Link a noun node for the THEN clause.

Link = noun_node [dbg$l_noun_Link];
noun_node ="dbg$get_tempmem(dbg$k_noun_node_size);
Link = .noun_node;

; Eat the left parenthesis which we require be present.

%;Ezot dbgSnmatch (.input_desc, dbg$cs_Left_paren, 1)

.ncssa?e

(1

THE

ELsgngnnakc,arg_vcct (dbg$_needmore)
GIN

BE
SIGNAL (dbg$_needparen);
gagfnsyntax_error (dbgfnnext_uord (.input_desc))

RETURN sts$k_severe;
END;

Put a pointer to the counted strin? representing the THEN
clause into the second noun node. (Note - the counted string

is constructed out of '‘permanent’'’ memory which is released

in DBGSNEXECUTE_IF).

(The third argument indicates that this routine is not being
galt:dtduring,’ SET BREAK DO (the behavior is slightly different
n that case.

vect =
sngnnatch (.input_desc, dbgScs_cr, 1)

dbgSnsave_break_buffer (.input_desc, noun_node [dbg$l_noun_valuel);

! If we have reached the end of the Line, return success (no else
; clause is present).

iF dbgSnmatch (.input_desc, dbgscs cr, 1)
"EOR .input_desc LdscSw_length) EOL 0

NRE!URN sts$k_success;
; Look for ELSE clause.
%55201 dbgSnmatch (.input_desc, dbg$cs_else, 1)
BEGIN :
.message_vect = dbg$nsyntax_error (dbg$nnext_word (.input_desc));

RETURN sts$k_severe;
END;
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DBGIF THEN 16=Sep=-1984 01:18:37 AX=11 Bliss=32 Vv4.0-74 Page
v04-000 14-503-19 4 ?}:16:29 DEBUG.SRCSDBGXFTHEN.BS 1 .
: §§ 218 ; Allocate and Link a noun node for the ELSE clause.
; 421 Link = noun_node [db $L_noun_Llink];
;N 4 § noun_node = dbg$get_tempmem(dbg$k_noun_node_size);
: gg 2 Z .Link = .noun_node;
% 3g 2 ; 5 Eat the left parenthesis which we require be present.
;296 ) IF NOT dbgSnmatch (.input_desc, dbgScs Left aren, 1)
P 597 458 THEN. 0 e e
;: 298 429 BEGIN
: 299 4«30 .nessa?e vegt =
: 300 431 (IF dbg$nmatch (.input_desc, dbg$cs_cr, 1)
;s 301 4 i & THEN
3 Og 4 & dbg$nmake_arg_vect (dbg$_needmore)
: 30 0436 & E
: 304 84 S BEGIN
; N 4 ? SIGNAL (dbg$_needparen);
: 89 82 8 a ?nsyntlx_error (dbg‘nnext_uord (.input_desc))
: 308 0439 RETURN sts$k_severe;
: 3509 0440 END;
; 30 0441
s M 044 ! Put a pointer to the counted string representing the ELSE
: 31% 044 ! clause into the third noun node. (Note = the counted string
; N 0444 ! is constructed out of '‘permanent'’ memory which is released
; 3}& 8:22 ! in DBGSNEXECUTE_IF).
; }9 822; dbg$nsave_break_buffer (.input_desc, noun_node [dbg$l_noun_valuel);
: 31 0449 ! Return success.
: 3519 0450 :
;. 320 0451 RETURN sts$k_success;
: 321 045
§ e 0453 1 END;

.TITLE DBGIFTHEN
+IDENT \V04-000\

.PSECT DBGSPLIT ,NOWRT, SHR, PIC,0

0D 01 00000 P.AAA: .BYTE 1, 13 ;
28 81 8882 P.AAB: .BYTE 1, 40 :
4 P.AAC: .BYTE & :
45 53 4C 45 JASCIT  \ELSE\ :
24 0009 P.AAD: .BYTE 4 :
GE 45 4B 54 JASCIT  \THEN\ :
DBGSCS_CR= P.AAA
DBGSCS LEFT_PAREN= P.AAB
DBGSCS ELSES P.AAC
DBGSCS THEN= P.AAD
.EXTRN DBGSGB_LANGUAGE
.EXTRN DBGSGB”RADIX, DBGSGB_ TAKE CMD
.EXTRN DBGSGL-CISHEAD, DBGSBEF_SYM ADD
.EXTRN DBGSGET_MEMORY, DBGSGET TEMPMEM
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AX=11 Bliss=32 v4.0-74
DEBUG.SRCIDBGIFTHEN.B3Z;1

GSNCIS _ADD osssueer SYMID

GSNMAKE ARG VECT

GSNMATC n DBGSNNEXT _WORD

GSNPARSE EXPRESSION”

GSNREAD _RAME, DBGSNSAVE_BREAK_BUFFER
GSNSYNTAX ERROR

GSNTYPE_CONV, DBGSREL_MEMORY
DBGSSTA_LOCK_SYMID

DBGSCODE ,NOWRT, SHR, PIC.0

ogssuPAase IF, Save R2,R3,R4,RS.R6,R7.R8,~-
oaésNSAve BREAK_BUFFER, R10

LIBSSIGNAL, R9

DBGSGET rsnpn;n. R8

DBGSNMATCH

ogsscs CR, R6

#1, DBGSGET TEMPMEM

7
9
08
08
08
08
DB
)
-

RO, noun NOBE
VERB_NODE, RO
NOUN noos 8(RO)

DBGSGB RADIX, RADIX
HgSSAGE VECT, R3

#6
#*M<RO,RS>
IuPur _DESC, R2
= DBGSNPARSE _EXPRESSION

ao STATUS
?;ATUS. 01
#1646048
#1, LIBSSIGNAL
grArus. i
1os
oasscs THEN

gBGSNﬂAYCH
l
a-n<a2 R6>

DBGSNMATCH
s
3:
(RS). LINK

01 DBGSGE! TEMPMEM
RO, NOBE
u?un uooE (LINK)

DSGSCS LEFT_PAREN

Page

8
(3)

0248

0320
0321
0326
0334 |
0333}

033
033

0343
0348

0355

0359

Oibl‘
0371 |
0372

143
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~Sep-1 DEBUG.SRCIDBGIFTHEN.B32; 1 (3) |
7 F 90 CALLS # GSNMATCH :
E 3 Eg A BLBC a3 gg : «
& BB 000A PUSHR  #*M< : 0400
6A % F8 000A CALLS ;. oaésusAve _BREAK_BUF FER :
0D 000A PUSHL # : 0405
0044 F BB 000AA PUSHR  #*M<R2,R6> : |
67 F AE CALLS 03. ogésnnArcn : |
6F £ 81 BLBS : |
62 BS 00084 TSTW (n : 0406
68 1 08 BEQL 12 : ;
01 0D 0008 PUSHL ;0612
046 A6 OF BA PUSHAB Gscs ELSE : |
S2 DD 000BD PUSHL a : |
67 2 rs 00BF CALLS , DBGSNMATCH ; i
40 5 oocg 4$: BLBC a 8s ; ;
54 08 A5 9E 000C MOVAB a(ﬁS) LINK : 0621
& DD 8ooc9 PUSHL : 0622
68 1 FB 000CB CALLS , DBGSGET TEMPMEM : ;
55 0 00 800(5 MOVL RO NOUN_NOBE : ;
64 S D0 000D1 MOVL NOUN _NODE, (LINK) : 0423
01 30 0004 PUSHL M : 0427
02 A6 9F 00006 PUSHAB DBGSCS_LEFT_PAREN ; |
52 0D 00009 PUSHL R : |
67 03 F¢B 000DB CALLS #3, DBGSNMATCH ; |
3D S0 €8 000DE BLBS RO, 118 ;
01 0D 80051 5% PUSHL M : 0431
0044 B8F BB 000E3 PUSHR  #*M<R2.R6> : i
67 gs FB 000E7 CALLS 03 gaesnnArcu : |
OF 0 E9 000EA BLBC ; |
00028000 B8F DD ooeg 6% PUSHL 0164048 : 0433
000000006 00 01 FB 000F CALLS ., DBGSNMAKE _ARG_VECT ; ;
18 11 000FA BRB 9s ; :
00028743 8F DD 00OFC 7% PUSHL  #165699 : 0436
69 01 FB o1o§ CALLS #1, LIBSSIGNAL :
52 0D 00105 8% PUSHL R2 : 0437
000000006 00 01 FfB 00107 CALLS  #1, DBGSNNEXT_WORD : |
SO DD 0010 PUSHL RO ; i
000000006 og 21 rg 011 CALLS #1, oagsnsvutux,ennoa : :
6 0 00 00117 9% MOVL RO, (R3) ;0631
50 04 2 8}}3 108 =g¥L . R ; 0439
84 88 0011€ 11$ PUSHR  #*M<R2,RS5> ; 0647
6A 2 rg 01 CALLS cz. DBGSNSAVE _BREAK_BUF FER ; |
50 01 0 8} 3 128 =g¥L #1, RO ; 0451

0453
; Routine Size: 295 bytes, Routine Base: DBGSCODE + 0000 |
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?&QBAL ROUTINE dbg$nexecute_if (verb_node.nessago_voct) =
i Functional Description

This routine performs the action associated with the IF
command.

i Formal Parameters

verb_node = A longword containing the address of the
head (verb) node.

message_vect ‘= The address of a longword to contain the
address of an error message vector

VIS AIN = OO0 N B~
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]
1
]
]
L]
]
L]
]
]
]
L]
46 :
8 468 ! Implicit Inputs
9 84?9 !
40 470 ! The connand tree contains a verb node and a Linked List
41 471 ! of two or three noun nodes. (See the diagram in the header for
Lg 47 ' DBG‘NPARSE o
4 047 !
44 0474 ! Routine Value
45 0475 '
46 047 ! A completion code.
&7 047 :
48 0478 ! Completion Codes
G 0479 !
50 0480 ! stsSk_success (1) - Success. Command executed
51 0481 ! sts$k_severe (4) - Failure. The command could not be
gg 828; : executed. An error message is constructed.
54 0484 ! Side Effects
55 0485 !
29 8: $ : Storage allocated for the THEN clause is freed up.
58 0488 BEGIN
59 04

o

OOV NO WV WN—=O

verb_node : REF dbgSverb_node;

LOCAL
condition_node: REF dbg$noun_node,
condition_value,
else_node: REF dbg$noun_node
else"string: REF ECTOR .uoaé]

The noun node for the IF condition
Should be TRUE or FALSE

The noun no? for the ELSE clause.
Counted string uith the ELSE clause

38 then_node: REF d Eﬂ node, The noun nodo for the THEN clause
then” string. REF VE TORC,Q0RD], Counted string with the THEN clause
00 vax_desc: dbg$stg_desc; Tar et of the conversion from

o

WY —

e value descriptor
reprosenting the condition,

' Recover the two noun nodes.

then_node = .condition_node [dbg$l

condition _nhode = ;vorb nodo [dbgtl vorb o?iost ptrl;
else_node = .then_node [dbg$l_noun_L nh!

133133133
QRAREN283
Mmmmm.md-uld‘d—.-.-‘-.—.—.—l-a—.-a-.—.-.—.-l-l-.—l-.—.d—..—l-.-..—l-l-..‘

B B e e B0 B B0 BeBeBeBeBc0eBs0s 0000080000000 00%00000000:0000 0000000000000 00800 0e0e0rBets8ssBenetsBsBsBone
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-
o

! Set up the vax descriptor for the condition.




V04-000 LR BT AT T TRl

: 1 ! »«x FOr now, we just doclaro the foscriptor to be longword integer,
3 i 1§ i since this causes the cuest problems the type converter.

: 1 i Eventual Y. ?et a Boolean type and all languages support
; }g i it then we uill bu ld a target descriptor of this type.

; 9 19 vax desc [dscSb_class] = dscSk_class_s;

; 38 1 vax_desc [dscSb_ dtype = dscSk_dtype_L;

; 388 513 vax_desc [dscSw_length) = &;

: 389 31 vax_desc [dscSa” pointers = condition_value:

; g? g ? vax_desc [dsc$l_pos) = 0;

: %9 S g ! w«+ Special case for PASCAL. Level 3 PASCA% returns doscriptors
. 34 g ? : of type Boolean (dscSk_dtype_tf) for relational expressions.
32 og 5 %;E.dbgub Language EQL dbg$k_pascal

i St e s

: vox osc 4 e) = dsc e_

: 399 05 3 vax desc Edscsu lozgt s 1; »

28

% 28 §§ g ; Initialize condition_value to 0

g 282 8; g condition_value = 0;

g 28? 8239 ' De the conversion from value descriptor to integer.

;408 05%8 IF NOT dbg$ntype_conv (.condition_node [dbg$l_noun_valuel,

;. 409 0539 dngk default,

: 2}? 8;2? dbgss vax_desc,

: var_desc,

: 2}; 822; Son .message_vect)

% 2}; 8;22 RETURN sts$k_severe;

: 2}? 8;29 : Recover the string(s).

i 418 0548 then_string = .then_node [dbg$l_noun_valuel;

: 213 Oggg T“E&else node NEQ 0~

: 251 §g§; else_string = .else_node [dbg$l_noun_valuel

: 2 é 0552 else_string = 0;

;425 82?5 ! Process the THEN clauso only if value of the condition is TRUE.
: & 9 SS? ! For now, just use the BLISS semantics which say that a value is
; & 55 ' true i f he low bit is 1. We need to research which lan guages
: 428 558 ! have di ferent sonantics and come up with a Language-dependent
: 2 9 220 E method of doing this,

:1 ggi {’F‘E'.‘condition_uluo

:sg ggg BEGIN

: :iﬁ 265 g Add 2 new Link to the command input stream.

; 639 Sg? IF NOT dbgSncis_add (then_string[1), .then_string(0],

N
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cis_if, 0, 0, 0, .message_vect) | |
THEN
RETURN sts$k_severe;
END
ELSE ! Process the ELSE clause
IF .else_string NEQ 0
THEN
BEGIN
; Add a new Link to the command input stream.
IF NOT dbgSncis_add (else stringstl .else_string[0],
cis Y0, 0. 0. 6. .message_vect)
THEN
RETURN stsSk_severe;
END;
; Return success.
RETURN sts$k_success;
END; ! dbgSnexecute_if
000C 00000 .ENTRY DBGSNEXECUTE_IF, Save R2,.R3 ; 0454
SE 10 (2 00002 SUBL? #16, SP 3 |
50 04 AC DO 00005 MOVL  VERB_NODE, RO : 0506
50 08 A0 DO 00009 MOVL  B(ROY, CONDITION_NODE 3 |
sg 08 A0 DO 0000D MOVL  B(CONDITION_NODEY, THEN_NODE : 0507
5 08 A2 DO 00011 MOVL  B(THEN_NODEY, ELSE_NODE : 0508
0& AE 01080004 8F DO 00015 MOVL #17301508, VAX _DES : 0518 |
08 AE 6 9€ 0001D MOVAB  CONDITION_VALUE, VAX_DESC+4 : 0519
0C AE 84 00021 CLRL  VAX _DESC+B : osso;
06 000000006 00 91 00024 (MPB  DBGSGB_LANGUAGE, #6 : 0525 |
08 ;S 000 BNEQ 18 : ‘
06 AE sa 00020 MOVB #4640, VAX _DESC+2 ; 0528
06 AE 1 80 800 1 L #1, vAX _DESC 3 05;2
6E D& 00035 18: CLRL CONDITION_VALUE : 05
08 AC DD 800 7 PUSHL  MESSAGE _VECT 3 OSAS.
08 AE 9F 0003A PUSHAB VAX DEST ; 0538
TE 82 8F 9A 000 movZeL #130, -(sP) :
01 DD 0004} PUSHL M :
60 DD 0062 PUSHL  (CONDITION_NODE) 3
000000006 00 gS Fs 004 CALLS #5, DBGSNTYPE_CONV :
3B 0 E9 0004C BLBC RO, 6% :
50 g; [ 886? MOVL (THEN_NODE), THEN_STRING ; 0548
HELE S 5
52 i D0 00056 MOVL  (ELSE_NODE), ELSE_STRING : 0551
02 11 00059 BRB 3 :
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Routine Base: DBGSCODE + 0127
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; Routine Size:
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?LOBAL ROUTINE dbgS$nparse_while(input_desc, verb_node, message_vect) =
Functional Description
ATN parse network for the WHILE verd.
This routine takes a verb node for the WHILE verb, and a string

descriptor for the remaining (unparsed) input.
A command execution tree is built. The form of the tree is:

i verb node !==>==! noun node !==>==! noun node !

The first noun node points to a value descriptor for the condition.
The second noun node points to a counted string with the DO clause.

formal Parameters

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

i

: input_desc = A longword containina the address of the

: command input descriptor.

: verb_node = A lonauord containing the address of the verb node.
: message_vect = The acdress of a longword to contain the address
: of a standard message argument vector.
i
i
i
i
i
i
i
i
i
i
i
i
i
i
i
i
1
i
i
:

Implicit Inputs
none
Implicit Outputs

On success, the command execution tree is constructed. .
On failure, a message argument vector is constructed or cbtained.

Routine value

sts$k_success

(1) = Success. Command execution tree constructed.
sts$Sk_severe (&)

= failure. Error encountered. Message argument
constructed and returned.

! Side Effects

Permanent storaae is allocated for the string holding the DO clause;

this is released in DBGSNEXECUTE_WHILE after execution.

BEGIN

MAP
input_desc: REF dbg$stg_desc,
verb_node: REF dbgSverb_node;

BIND
dbg$cs_cr = UPLIT BYTE (1, dbgSk_car_return),
dbgScs_Lleft_paren = UPLIT BYTE (1, dbaik_lcff_parenthes1s).
dbg$cs_do = UPLIT BYTE (4, 'D0");

LOCAL

Vé.0-74

DBGIF THEN.B3Z; 1
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15-508-193‘ 12:16:;9 !DEBUG.SRCSDBG!FTHEN.BB 1

link, ! Temporary to hold Links in the command
: execution tree.

noun_node : REF dbg$noun_node, ! A node in the command execution tree.

radix, ! Molds the current radix setting.

status; ! Return status from subroutine calls.

; (reate and Link a noun node

noun_node = dbg$get_tempmem(dbg$k_noun_node_size);
vorb_nodo[dbgt?_gcrﬁ,object_pt?] = .noun_node;

; Determine the current radix.
radix = .dbg$gb_radix[dbgSb_radix_inputl;

! Obtain a value descriptor for the condition. The first noun node
: points to this value descriptor.

STATUS = DBGSNPARSE _EXPRESSION(.INPUT DESC, .RADIX,
NOUN_NODE [DBGSL_ROUN_VALUE],
TOKERSK_TERM_DO, ~.MESSAGE _VECT);

The return status should be "‘warning'', meaning that an expression
was parsed and further input remains, If an expression was parsed
and no input remains, NPARSE_EXPRESSION will return '‘success''.

In this context, it is an erfor since '‘WHILE exp'' by itself

is an error.

— Pl bt = - -

F .status EQL sts$k_success
MEN

BEGIN
.message_vect = dbgSnmake_arg_vect (dbg$_needmore);
2§;URN stsSk_severe;

; Severe status is also an error.
If .status EQL stsSk_severe
THEN
RETURN sts$Sk_severe;
; Eat the DO
%;Ezor dbgSnmatch (.input_desc, dbg$cs_do, 1)

BEGIN
.nesso?e vect = ;
(IF dbg$nmatch (.1ngut_desc. dbg$cs cr, 1)
'neaﬂ .input_desc LdscSw_length) EGL
ELsgbgtn-ake,arg_vect (dbg$_needmore)
dbgSnsyntax_error (dbg$nnext_word (.input_desc)));
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9 DEBUG.SRCIDBGIFTHEN.B3Z2;1 (5

RETURN stsSk_severe;
END;

; Allocate and Link a noun node for the DO clause.

Link = noun_node [dbg$l_noun_Link];

noun_node = dbg$get_tempmem(3bgSk_noun_node_size);
1ink = .noun_node;

; Eat the left parenthesis which we require be present.

%;E=OT dbgSnmatch (.input_desc, dbgScs_Left_paren, 1)

.”S?l?

: e_vect =
THE

Sbgsnnatch (.input_desc, dbg$cs_cr, 1)
gngnnake-arg_vect (dbg$_needmore)

BEGIN

SIGNAL (dbg$_needparen);

dbg$nsyntax_error (dbg‘nnext_uord (.input_desc))

RETURN stsSk_severe;
END;

! Put a pointer to the counted strin? representing the DO

! clause into the second noun node. (Note - the counted string

! is constructed out of '‘permanent’' memory which is released

E in DBGSNEXECUTE_IF).

dbgSnsave_break_buffer (.input_desc, noun_node [(dbg$l_noun_valuel);
; Return success.

RETURN sts$k_success;

.PSECT DBGSPLIT _NOWRT, SHR, PIC,0

oD 81 88008 P.AAE: .BYTE 1, 18 :
28 0 010 P.AAF: .BYTE 1, & :
04 00012 P.AAG: .BYTE & :
4F &4 000N LASCII  \DO\ :
DBGSCS_CR= P.AAE
DBGSCS_LEFT_PAREN= P.AAF
DBGSCS_DO= P.AAG

.PSECT DBGSCODE ,NOWRT, SHR, PIC,0

00F C 8008g .ENTRY DBGSNPARSE WHILE, Save R2,R3,R4,R5,R6,R7 : 059¢
57 000000006 00 9t 000 MOVAB  DBGSGET_TEMPMEM, R :
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GI1F THEN 12-50 -1984 01:18:37 AX=11 Bliss=32 v&.0-74 Page 17
=000 1&-s.3-1934 92:1o=§9 DEBUG. SRC oacxrrnsn.935:1 %€ (5
00000006 00 9E 00009 MOVAB DBGSNMATCH, Ré :
2? 80000000' F OE 0019 MOVAB DBGSCS_CR, RS :
& DD 0001 PUSHL  #4 ;0661
7 1 F 8019 CALLS #1, DBGSGET_TEMPMEM :
4 0 D 01C MOVL RO, NOUN_NOD :
0 08 AC DO 0001F MOVL  VERB_NODE, R : 0662
08 AQ 5¢ D 00; MOVL NOUN_NODE, 8(R0O) :
50 000000006 00 9A 000 MOVZIBL DBGSBB RADIX, RADIX : 0666
0C Ag 0D 0002E PUSHL HiSSAGE-VECT : 0674
05 0D 00031 PUSHL # : 0673
11 88 000 g PUSHR  #*M<RO,R&> :
52 06 AC DO 000 MOVL  INPUT_DESC, R2 : 067
52 DD 00039 PUSHL n; P 067
000000006 gg g F8 0003 CALLS  #5, DBGSNPARSE_EXPRESSION :
g D0 0004 MOVL RO, STATUS :
01 §3 D1 0004 CMPL  STATUS, M : 0683
‘S 13 00048 BEQL 2% :
04 53 D1 0004A CMPL  STATUS, #4 P 0692
75 13 0004D BEQL 6% : |
01 DD 0004F PUSHL  #1 : 0698
04 AS 9F 00051 PUSHAB DBGSCS_DO ;
sg DD 00054 PUSHL R :
66 03 FB 00056 CALLS #3, DBGSNMATCH :
10 50 E8 00059 BLBS RO, 1% ;
01 oD 0005¢C PUSHL & : 0702
24 BB 0005E PUSHR  #*M<R2,RS> : |
66 03 FB 00060 CALLS #3, DBGSNMATCH :
2C 50 E8 00063 BLBS RO, 2% :
62 BS 00066 TSTW  (RD) P 0703
4 12 00068 BNEQ  4$ ; |
26 11 0006A BRB 28 : 0705 |
53 08 A& 9E 0006C MOVAB  B(R&), LINK : 0713
04 DD 00070 PUSHL  #4 : 074
67 01 FB 0007 CALLS #1, DBGSGET TEMPMEM ;
54 go p0 0007 MOVL RO, NOUN_NODE 3
63 & DO 00078 MOVL NOUN_NODE, (LINK) : 0715
01 DD 00078 PUSHL  #1 P 079
02 AS 9F 0007D PUSHAB DBGSCS_LEFT_PAREN ;
sg DD 00080 PUSHL R ;
5 03 FB oooag CALLS #3, DBGSNMATCH ;
40 S0 E8 0008 BLBS RO, 78 ;
01 0D 00088 PUSHL M1 P 0723
& BB 0008A PUSHR  #*M<R2.R5> s
66 3 Fg 008C CALLS ls. gBGSMATCH :
OF 0 E9 0008F BLBC RO, 38 :
00028000 &F DD 0009 PUSHL #184048 10725
000000006 00 01 rg 009 CALLS  #1, DBGSNMAKE _ARG_VECT ;
1F 11 0009F 8RB 1 ; |
00028743 8F DD 000A1 PUSHL  #165699 : 0728
000000006 00 21 FB 000A7 CALLS #1, LIBSSIGNAL ; |
2 DD OOOA PUSHL R2 P 0729
000000006 00 01 FB 0008 CALLS #1, DBGSNNEXT_WORD : |
S0 DD 000B7 PUSHL RO ;
000000006 00 21 FB 00089 CALLS #1, DBGSNSYNTAX ERROR :
0c ?‘ 0 D 3 0 5% MOVL RO, @MESSAGE_VECT : oris
0 04 D )4 6 MOVL  #4. RO ;0731
04 000C7 RET :




H 3
V0e=000 " 10301080 02:18:3%  Vorele.ddectevhencessr P (S

u. a 8 7%: PUSHR  #*M<R2,Ré> : 0739

000000006 28 CA CALLS g DBGSNSAVE_BREAK_BUF FER :
D1 MOVL » : 0743
04 RET P 0745

: Routine Size: 213 bytes, Routine Base: DBGSCODE + 0189




3

G1F THEN 11-509-19 4 01:18:37 AX=11 Bliss=32 v4.0-74
386-000 14-Sep=-1984 ?2:16:29 DEBUG.SRCSDBGIFTHEN.BS i1
;: 618 7646 1 GLOBAL ROUTINE dbgSnexecute_while (verb_node,message_vect) =
619 7y 180 g . . v
: g ? ;28 } : Functional Description
3 © i e 1} This routine performs the action associated with the WHILE
: © fa 1} command.
;624 7 i B
;. 625 7 1 ! Formal Parameters
i ® ? 7% 1!
: & 39 %} verb_node - A lon?uord containing the address of the
; 628 759 ? head (verb) node.
: 629 72 B message_vect = The address of a longword to contain the
: 630 756 1! address of an error message vector
;s 631 0759 1!
: ® i 0760 1 ! Implicit Inputs
: 6 0761 1! ]
: 6 076§ B The command tree contains a verb node and a linked list
: 635 07635 1! of two noun nodes. (See the diagram in the header for
: 636 07664 1! DBGSNPARSE _WHILE).
;. 637 0765 1!
; 638 0766 1 ! Routine value
: 639 0767 1! -
; 640 0768 1 ! A completion code.
;. 64 0769 1!
3 6A§ 0770 1 ! Completion Codes
: 64 0771 1!
;644 077§ ]} stsSk_success (1) - Success. Command executed
: 645 0773 1! sts$k_severe (&) = Failure. The command could not be
: 64 077¢ 1! executed. An error message is constructed.
;. 64 Ny 3§ .
; 648 0776 1 ! Side Effects
: 649 0777 1!
: 650 o778 1! None
: M 0779 1 !==
: @ 0780 BEGIN
: 9 0781
: 65 078; MAP
; 655 078 verb_node : REF dbgSverb_node;
: 656 0784
;. 657 0785 LOCAL :
; 658 0786 condition_node: REF dbgSnoun_node, ! The noun node for the IF condition
: 659 07%7 condition_value, ! Should be TRUE or FALSE
; 660 788 do_node: REF d?qtnoun_node. ! The noun node for the THEN clause
: 661 733 do_string: REF VECTOR[,WwORD], ! Counted string for the do clause
: 66§ 7 vax_desc: dbg$stg_desc; ! Target of the conversion from
: 66 791 : the value descriptor.
: 664 79§
: 665 79
: gg? ;3; : Recover the two noun nodes.
: 668 799 condition_node = .verb,nodt [db?tl_vorb obiect_ptr]:
: 298 ;g' do_node =".condition_node [dbg$[_noun_LTnk];
: g;l ;83 ; Set up the vax descriptor for the condition,
: 67§ 801 vax_desc [dscSb_class) = dscSk_class_s;
: 674 0802 vax_desc [dsc$b_dtypel] = dscSk_dtype_L;

~ 0
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G1F THEN 165 1:18: AX=11 Bliss=32 V&.0-74 b 0
V00000 10-80001080 93:18:30 POraud hiddacssYnel2ss. ooe &

: 675 03 vax_desc [dscSw_length) = &;

: Of 04 vax_desc [dsc$a_pointer) = condition value;

: 2;8 ' 05 vax_desc [dsc$l pos) = 0;

;s 679 889 ! Special case for Level 3 PASCAL. PASCAL returns descriptors
: gg? §83 : of type boolean (dsc$k_dtype_ tf) for relational expressions.
: 68 10 iF .dbgSgb_language EQL dbg$k _pascal

i 68 811 THEN D 90~ 18NgUaY s

;. 686 081§ BEGIN

; 685 081 vax_desc Edscib dtype) = dscSk_dtype_tf;

: 689 8814 vax dosc dscSw_length) = 1;

: 68 15

; G6B8 0819

: 689 081 ' lnitializo condition_value to zero.

: 690 0818 !

: N 0819 condition_value = 0;

: 69 0820

3 gg‘ 83 1 ! Do the conversion from value descriptor to integer.

: 695 08 ; lF NOT dbg$ntype_conv (.condition_node [dbg$lL_noun_valuel,

: 696 0824 dbg!k default,

: 697 0825 dbgSk_vax_desc,

: 698 0826 vax_desc,

;. 699 0827 .mesSsage_vect)

; 700 0828 THEN

: ;85 83;3 RETURN stsSk_severe;

: ;82 83;1 2 ; Continue only of condition is true. For now, just use BLISS semantics.
s 103 083§ IF .condition_value

: 706 0834 THEN

: 1707 0835 BEGIN

; 708 0836

; 709 0837 ! Recover the do string.

: 710 0838 !

: ;}1 8%28 do_string = .do_node [dbg$lL_noun_valuel;

: ;}g 8321 ; Add a Llink to the command input stream

: 75 0845 IF NOT dbaincis add (do_string[1]), .do_string[0], cis_while,
: 116 0844 E. 0, .message_vect)

: 7 0845 THEN

: 718 0329 RETURN stsSk_severe;

: 119 0

: 720 0848 END

;. 721 0349

=R g 0850 ELSE :

: 7 0851 ' Add a cis for null action

: 724 85; !

: 725 85 BEGIN

y: A 356 LOCAL

: ;Za 825 d dunny REFtVECTOR[ ??RD]

3 ummy = et_memor

: ;§g §g’ 1 N&t db angis _add (sunnytll 0, cis_while, 0, FALSE, 0, .message_vect)
: ™ 0 53 RE!URN sts$k_severe;
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<

F
END;

; Return success.

RETURN stsSk_success;

END; ! dbgSnexecute_while

SrBeSste ety
~N NN~~~
00 ~NON NS WY
(wlelelelelels]

oo
VSN = O

0004 00000 LENTRY DBGSNEXECUTE_WHILE, Save R2 : 0746
SE 10 cg oooog SUBL2 #16, SP : |
50 06 AC DO 0000 MOVL  VERB_NODE, RO : 0796 |
50 08 A0 DO 00009 MOVL g(aor CONDITION_NODE : |
52 08 A0 DO 0000D MOVL (sguégtxon NODEY, DO_NODE : 0797
04 AE 01080004 8F DO 00011 MOVL  #17301508, VAX DESC : 0803
08 AE 6 9E 00019 MOVAB CONDITION VALUE, VAX_DESC+4 ; 0804
0C AE D& 00010 CLRL  VAX _DESC+B : 0805 |
06 000000006 00 91 00020 CMPB  DBGSGB_LANGUAGE, #6 : 0810
08 13 800 7 BNEQ 1§ : |
06 AE 8 90 00029 MOVB  #40, VAX _DESC+2 : 0813
04 AE 1 80 00020 MOVW #1, VAX _DBESC : 0814
66 D& 00031 18: CLRL CONDITION_ VALUE ; 0819
08 AC DD 00033 PUSHL  MESSAGE VECT ; 0827
08 AE 9F 00036 PUSHAB VAX DEST ; 0823
7€ 82 8F 9A 00039 MOvZBL #130, =(sP) 3
01 0D 00030 PUSHL M : |
60 DD 0003F PUSHL (gouoltlou NODE) ;
000000006 00 05 FB 00041 CALLS #5, DBGSNTYPE_CONV ; ;
34 SO €9 80048 BLBC RO, 4$ ; ;
1 65 €9 0004B BLBC  CONDITION_VALUE, 2% : 0833
50 62 DO 0004E MOVL (DO_NODE); DO_STRING : 0839
08 AC DD 0005 PUSHL  MESSAGE vECT : 0844 |
14 01 70 00054 move  #1, -(SP) : 0843
7€ 05 70 00057 MOVQ  #5, =(SP) ;
7€ 60 3C 0005A MOVZWL (DO_STRING), =(SP) : |
13 11 00050 BRB 3 ;
01 0D 0005F 2%: PUSHL M : 0856
000000006 00 01 FB 00061 CALLS #1, DBGSGET_MEMORY ;
08 AC oD 0068 PUSHL MESSAGE_VECT : 0857
7; C 00068 CLRQG  =(SP) :
7€ 9 70 8090 MOVQ  #S, =(SP) :
gﬁ 070 CLRL  =($P) :
02 A0 9F oor; 3 PUSHAB 2(DUMMY) :
000000006 00 7 rg 007 CALLS #7, DBGSNCIS_ADD :
04 0 E8 0007C BLBS RO, 5% : '
50 04 82 88;% 4: :ggL ¥, RO : 0859
50 01 00 5%: MOVL  #1, RO : 0864 |
34 8836 RET ; 0866

; Routine Size: 135 bytes, Routine Base: DBGSCODE + 028E
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14=Sep=19 DEBUG.SR HEN.B3Z:1
;2? GLOBAL ROUTINE dbg$riparse_for Jt_desc, verb_node, message_vect) =
;2 Functional Description
7446 ATN parse network fi¢- R verb.
745 This routine takes a rode for the FOR verb, and a string
746 descriptor for the re _ y (unparsed) input.

A command execution tree s built. The form of the tree is:

{ verb node !==>==! noun node !==>==! noun node ! ==>== | noun node !

The first noun node contains a counted string with the name of the
loop variable.
e second noun node contains value descriptors with the lLower and

~

»~

oo
(elelelelelelelalelelelclalalalelel]
00 0o 00 0o 00 0o 0o Co 00 0o 00 00 0o 00 0o 00 0O OO

S NI =2 O CONO NS W -0V~

Q000000000 NN NN NNNNNNOONO

Th
ugper bounds, and lLoop increment
The third noun node contains a counted string with the command list.

: 1

3 ]}

: 1!

i 1!

. 1!

; ] i

: 1

3 !}

: 1!

: 13

. 1!

; ] i

; 1

: ] i

: 11

: ! !

: 1!

: 1!

: 0885 1!

: 0886 1 ! Formal Parameters

: 760 0887 1!

: 76 oggs 1 ! input_desc = A longword containing the address of the

s 76 0889 1! command input descriptor.

: 76 0890 1! verb_node - A lonauord containing the address of the verb node.
: 764 0891 1! message_vect = The address of a longword to contain the address
: 765 0892 1! of a standard message argument vector.

: 766 08935 1! :

: 767 0896 1 ! Implicit Inputs

; 768 0895 1!

: 769 089 1 ! none

: 770 0897 1 !

s m 0898 1 ! Implicit Outputs

3 7 0899 1!

: 7 090 1! On success, the command execution tree is constructed.

: ;;g 8381 } ; On failure, a message argument vector is constructed or obtained.
s 776 0905 1 ! Routine value

: 177 0906 1 ! :

s 778 0905 1! sts$k_success (1) = Success. Command execution tree constructed.
: 7179 0906 1! sts$k_severe (&) = Failure. Error encountered. Message argument
: 780 0907 1! constructed and returned.

: 781 908 1!

: ;g 3?3 } ; Side Effects

: 784 911 1! Permanent storage is allocated for the string holding the action
; 785 091§ 1! ¢lause and for the strina holéiaa the Loop variable name.

: 786 913 1! This is released in DBGSNCIS_REMOVE after execution

: 787 14 1! of the action clause.

; 788 915 1!

: 789 91? 1

: 790 91 BEGIN

: N 913

: 19 91 MAP

s 9 920 input_desc : REF dby&stg desc,

: 796 921 verb_node : REF dbgSverb_node;

: 795 9 §

: 796 09 BIND




.Link = .noun_node;

Il

WA = OO NO WV WN =00

; Determine the current radix.
radix = .dbg$gb_radix[dbg$b_radix_inputl;

! Obtain a value descriptor for the lLower bound. The noun_value field
; points to this descriptor.

STATUS = DBGSNPARSE_EXPRESSION(.INPUT_DESC, .RADIX,
NOUN NODE “[DBGEL NOUN_VALUE)
TOKERSK_TERM_TO,”.MESSAGE_VECT);

! The return status should be "‘warning'’, meaning that an expression

ns3
DBGIF THEN 16=-Sep=-1984 01:18:37 AX=11 Bliss=32 v4.0-74 Page 23
VSA-OOO 12-508-1924 ?2=16:g9 DEBUG.SRC’DBGIFIHEN.BSg:1 n (;)
s 197 924 dbg$cs_comma = UPLIT BYTE (1, dbgSk_comma),
: 798 925 dbg$cs_cr = UPLIT BYTE (1, dbg$Sk_car_return),
s 7199 9 9 dbgScs_equal = UPLIT BYTE (1, dbgSk_equal),
: 800 9 dbgScs_Lleft_paren = UPLIT BYTE (1, ngSK_left_parenthesis),
: 801 9 s dbg$cs_ = UPLIT BYTE (2, 'BY'"),
: 0§ 9 dbg$cs_do = UPLIT BYTE (2, 'DO'),
: 88& g ? dbg$cs_to = UPLIT BYTE (2, 'T0");
: 805 09 i LOCAL
: 806 09 link, ! Temporary to hold Llinks in the command
: 807 934 : execution tree.
3 gOB 935 noun_node : REF dbg$noun_node, ! A node in the command execution tree.
: 809 9 ? radix, ! Holds the current radix setting.
: 810 09 status; ! Holds return status from subroutine
: 81 0938 : calls.
: 81; 0939
; 8 0940
: 814 0941 ! Create and Link a noun node
: 815 096§ :
: 816 094 noun_node = dbgtget tempmem (dbg$k_noun_node_size);
: g}z 832; verb_node[dbg${_verb_object_ptr] =".noun_node;
: 819 094 ! Pick up the name of the loop counter.
; 820 094 ! Note that dbgSnread_name allocates Eernonent storage for the name.
: 821 0948 ! This must be released in DBGSNCIS_REMOVE when the command buffer is
5 8%; 0949 ! no longer needed.
: 8 0950 '
: 824 0951 IF NOT dbg$Snread_name (.input_desc,
; 8¢5 09S§ noun_node [dbgil_noun_value].
: 826 095 .message_vect
: 827 0954 THEN
; 828 0955 RETURN sts$k_severe;
: 8§9 0956
: 830 0957 ! Eat the =
3 B3} 0958 !
: Glg 0959 IF_NOT dbg$nmatch (.input_desc, dbg$cs_equal, 1)
: 83 0960 THEN
3 gsg 3 report_error;
3 337 ! Create and Link a noun node
; 838 Link = noun_node [dbg$l_noun_Link]; -
: 8% noun_node = dbg$get_tempmem Tdbg$k_noun_node_size);

VWAV




BEGIN
.message_vect = dbgSnmake_arg_vect (dbg$_needmore);
RETURN sts$Sk_severe;
END;
; Severe status is also an error.
IF .status EOL stsSk_severe
THEN
RETURN sts$Sk_severe;
E Check for BY clause.
;;Egbgtnnatch (.input_desc, dbgScs_by, 2)

BEGIN

NNNRIPNORONI RN RIRINON) = = b 3 b b b b b

WN) = OO NS NN = O VRN VS BIN 2OV ~NOW

-t TR R R 2

w

N 3 -
DBGIF THEN 16=Sep=1984 01:18:37 AX=11 Bliss=32 v4.0-74 Page 24
VSA-OOO 14-503-19‘4 ?2:12:?9 DEBUG.SRCSDBGIF?HEN.BS a1 . (;):
: BS54 981 ! was parsed and further input reamins. If an oxBrossion was parsed
: B35 9 § : but no input remains, then DBGSNPARSE _EXPRESSION will return success.
: gg? 9 i In this context, it is an error since” 'REPEAT count'’ by itself
3 gge 8332 ; S an error.
; 9 IF .status EQL sts$k_success
: 860 939 THEN o
: 221 ggg oo t = dbg$nmak t (dbg$ d )
: .Mmessage_vect = nmake_arg_vec _needmore) ;
: 86 0990 RETURN sfsSk-severg: y .
: 864 0991 END;
: 865 99;
: 866 99 ! Severe status is also an error.
s 867 994 !
; 868 0995 IF .status EQL sts$k_severe
: 869 0996 THEN
; 870 0997 RETURN stsSk_severe;
. 8N 0998
3 87§ 0999 ! Eat the ''TO".
: 87 1000 !
: 874 1001 IF_NOT dbg$nmatch (.input_desc, dbg$cs_to, 2)
; 875 100 THEN
: 876 100 report_error;
: 877 1004
; 878 0 ! Obtain a value descriptor for the upper bound. The noun_value?2 field
: ggg 8 s points to this descriptor.
; 881 0 STATUS = DBGSNPARSE_EXPRESSION(.INPUT_DESC, .RADIX,
: aag 0 NOUN_NODE “CDBGSL NOUN_VALUE?2)
: gg‘ TOKERSK_TERM_BY,~.MESSAGE _VECT);
: 885
3 ! The return status should be ''warning'’, meaning that an expression
; 887 ! was parsed and further input reamins. If an exsression was parsed
: : but no input remains, then DBGSNPARSE_EXPRESSION will return success.
: 889 i In this context, it is an error since  'REPEAT count’ by itself
3 895 E is an error.
: 9; IF .status EQOL stsSk_success
: B89 THEN
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14-503-1934 ?2:12:29 DEBUG.SRCSDB
; Obtain a value descriptor for the increment.

STATUS = DBGSNPARSE _EXPRESSION(.INPUT DESC, .RADIX,
NOUN_NODE [DBGSL_ADJECTIVE PTRI,
TOKERSK_TERM_DO, " .MESSAGE_VECT);

The return status should be ''warning'', meaning that an expression
was parsed and further input reamins., If an expression was parsed

but no input remains, then DBGSNPARSE _EXPRESSION will return success.
%n this context, it is an error since 'FOR I=1 T0 N BY" by itself

S an error.

32
GIF

— Pl 8 - - - - - -
x

Feﬁstatus EQL sts$k_success

BEGIN

.message_vect = dbg$nmake_arg_vect (dbg$_needmore);
RETURN stsSk_severe;

END;

; Severe status is also an error.

IF .status EQL sts$k_severe
THEN

RETURN stsSk_severe;

END

ELSE
noun_node [dbg$l_adjective_ptrl = 0;

; Eat the 'DO".
;zezot dbgSnmatch (.input_desc, dbg$cs_do, 2)
report_error;

; Allocate and Link a noun node for the action clause.
link = noun_node [dbg$l_noun_Link];
noun_node = dbgSget_tempmem Tdbg$k_noun_node_size);
Link = _noun_node;
; Eat the left parenthesis which we require be present,
%§£=°' dbgSnmatch (.input_desc, dbgScs_left_paren, 1)

report_error;
Put a pointer to the counted strin? representing the action
¢lause into the second noun node, (Note - the counted string
is constructed out of ‘‘permanent'' memory which is released
in DBGSNCIS_REMOVE), :
The third argument indicates that save break_buffer is not being
called durin’ parsing of a SET BREAK DO (The routine behaves
slightly differently in that case)

bgSnsave_break_buffer (.input_desc, noun_node [dbg$l_noun_valuel);

n -

Pa S
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; Return success.
RETURN sts$k_success;
END;
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-Sep=-1984 01:18:37 AX=11 Bliss=32 v4.0-7
-Sep=1984 ?2: :29 DEBUG. SRCIDBGIF THEN. B
.PSECT DBGSPLIT,NOWRT, SHR, PIC.0
P.AAN: .BYTE 1, 44
P.AAI: .BYTE 1. 13
P.AAJ: .BYTE 1. 61
P.AAK: .BYTE 1, 40
P.AAL: .BYTE 2
JASCIT  \BY\
P.AAM: .BYTE 2
JASCIT  \DO\
P.AAN: .BYTE 2
JASCIT \TO\
DBGSCS_COMMA= P.AAH
DBGSCS CR= P.AAI
DBGSCS “EQUAL = P.AAJ
DBGSCS LEFT_PAREN= P.AAK
DBGSCS BY= P.AAL
DBGSCS DO= P.AAM
DBGSCS TO= P.AAN
.PSECT DBGSCODE.NOWRT, SHR, PIC.0
.ENTRY DBGSNPARSE_FOR, Save R2,R3,R4,RS,R6,R7,.R8,-
R9,R10,R11
MOVAB DBGSGET TEMPMEM, R11
MOVAB  DBGSNPARSE_EXPRESSION, R10
MOVAB DBGSNMATCHS R9
MOVAB DBGSCS_CR, RS
PUSHL  #%
CALLS #1, DBGSGET TEMPMEM
MOVL RO, NOUN_NOBE
MOVL  VERB_NODE, RO
MOVL  NOUN"NODE. 8(RO)
MOVL  MESSAGE VECT, Ré
PUSHR  #*M<R2,Ré4>
MOVL  INPUT_DESC, R3
PUSHL R
CALLS  #3, gBGSNREAD_NAHE
BLBS ng $
18: BRW 13§
28: PUSHL M
PUSHAB DBGSCS_EQUAL
PUSHL R
CALLS #%, gacsxnarcn
BLBC RO, 3%
MOVAB  B(R2), LINK
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FTHEN.B32;1

& 01:18:37 AX=11 BLi
8¢ 92:18:30  MokaoL.ShEs
PUSHL  #4

CALLS #1, DBGSGET TEMPMEM
MOVL RO, NOUN_NODE
MOVL NOUN_NODE, (LINK)
MOVZBL DBGSGB_RADIX, RADIX
PUSHL R4

PUSHL "3

PUSHL  NOUN_NODE

PUSHR  #°M<cR3,R6>

CALLS  #5, DBGSNPARSE_EXPRESSION
MOVL  RO. STATUS

CMPL STATUS, #1

BEQL 48

CMPL  STATUS, #4

BEQL 1%

PUSHL I ¥4

PUSHAB DBGSCS_TO

PUSHL &

CALLS #5., DBGSNMATCH
BLBS RO, 6

PUSHL [

PUSHR #*M<R3, R8>

CALLS #3, DBGSNMATCH
BLBC RO, 5%

BRW 10§

BRY 1%

PUSHL R4

PUSHL  #14

PUSHAB 12 (NOUN_ NODE)
PUSHR #*M<R ,lb)

CALLS  #5, DBGSNPARSE_EXPRESSION
MOVL RO, STATUS

CMPL  STATUS, #1

BEQL 108

CMPL STATUS, #4

BEQL 1%

PUSHL "2

PUSHAB DBGSCS_BY

PUSHL R

CALLS #s, 9BG$NHATCH
BLBC RO, 7%

PUSHL R

PUSHL 5

PUSHAB 4 (NOUN_NODE)
PUSHR #*M<R3I,RE6>

CALLS  #5, DBGSNPARSE_EXPRESSION
MOVL RO, STATUS

CMPL  STATUS, M

BEQL 108

CMPL STATUS, #4

BNEQ a;

BRB 138

CLRL & (NOUN_NODE)
PUSHL "2

PUSHAB DBGSCS_DO

PUSHL R

CALLS #5, DBGSNMAT(CH

Page 27
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; Routine Size:

343 bytes,

000000006

000000006
000000006

000000006

Routine Base:

% 08

04

0108
69

OF
00028000
00
00
00

64
50

00
50

OOWVIV OWVOWVMO W= O0WMOmOWVOWNEP OWVMWVOO P> W

=_AIANN OO =N = T ON T = OWINDD = NO — O

1
1
9 F
5¢ 800r8
0D FC
F F;
0 1
0 1
80 107
F 001
0D 0010C
Fg 1
E8 0011
0D 8116
88 00116
Fg 011A
E9 00110
0D 00120
FB 00126
11 081 D
0D 8 12F
FB 00131
DD 001
FB 0013A
D0 00141
D0 00144
04 00147
DD 00148
DD 0014A
FB 0014C
D0 00153
04 00156

DBGSCODE + 0315

sroem

9s:

108:
118:

12%
13%

i

148:

4
Sep=-1984 01:18:
503-19 4 ?

BLB(
MOVAB
PUSHL
CALLS
MOVL
MOVL
PUSHL

PUSHAB

PUSHL
CALLS
BLBS
PUSHL
PUSHR
CALLS
BLBC
PUSHL
CALLS
BRB
PUSHL
CALLS
PUSHL
CALLS
MOVL
MOVL
RET
PUSHL
PUSHL
CALLS
MOVL
RET

2:16:

27 AX=11 Bligs-!Z v4.0-765

: 59 DEBUG.SRCIDBGIFTHEN.B3Z;1
RO, 9%

8(R2), LINK

"

#1, DBGSGET_TEMPMEM
RO, NOUN_NODE
,?UN_NODE. (LINK)

RSGSCS_LEFT_PAREN
#3, DBGSNMATCH
0, 148

¢

#*M<R3,RE>

#3, DBGSNMATCH
RO, 11§

#164048

f‘i DBGSNMAKE _ARG_VECT
R

:8. DBGSNNEXT _WORD

#1, DBGSNSYNTAX_ERROR
RO, (R4)

#4, RO

NOUN_NODE

R3

#2, DBGSNSAVE_BREAK_BUFFER
'10 Ro

A R TR TR PR T AT AT AT A A TA TR PR DA PR T PR PR PR TR PR PR DA PR PR PR TR Y

1078

1078
1082

1083

1094

2
"
23




2 V6,0-74 Page 29
IFT i (S)

FTHEN.B32;1

F o4
G1F THEN 16-5ep=1986 01:18:37  VAX=11 Bliss-3
0022000 10-5e0C198e 13:13:30  Io%aod Shissed

: 3;5 }} 1 } g%gBAL ROUTINE dbgSnexecute_for (verb_node,message_vect) =

3 8;8 }} § } t Functional Description

: 3‘3 }} S } ; This rgutine performs the action associated with the FOR

: : command.

; 98 1" ] !

: 98 1183 1 ! Formal Parameters

: 98 1" ' ¢

: 984 1110 1! verb_node - A longword containing the address of the

; 985 111 3¢ head (verb) node.

: 989 111; ] ! message_vect = The address of a longword to contain the

: 333 }}}‘ 1! address of an error message vector

: 989 1115 1 . .mplicit Inputs

: 990 1119 B

;i M "7 3! The command tree contains a verb node and a linked List

: 99 1113 ] ! of three noun nodes. (See the diagram in the header for

: 99 m ] 3 DBGSNPARSE _FOR) .

s 994 1120 1!

: 995 1121 1 ! Routine Value

: 996 n g !

s 997 1 1! A completion code.

: 998 1126 1!

s 999 1125 1 ! Completion Codes

: 1000 1 ? 3 3

: 1001 1" 1 sts$k_success (1) = Success. Command executed

3 100§ 1128 1! stsSk_severe (4) = Failure. The command could not be

: }88‘ }}gg } 5 executed. An error message is constructed.
; 1005 1131 1 ! Side Effects

: 1006 113§ 1!

; 1007 113 1! None

; 1008 1136 1 ==

; 1009 1135 % BEGIN

: 1010 1136

;101 1137 2 MAP

: 101§ 1138 verb_node : REF dbg$Sverb_node;

: 10 1139

: 1014 1140 LOCAL

: 1015 1141 action_node: REF dbgtnoun node, : The noun node for the action clause
: 1016 11&; action_string: REF VECTOR[,Q0RD], ! Counted string with the action clause
3 }8}; }}:‘ bounds_node: REF dbg$noun_node, E Nounlnodo git dtho upper and
3 : ower bounds

1020 1148 foce, Incr | Lore tocrement o

: }821 }}:z LoweF_bound, ; An i?togo; ui;h the lower
: : oop boun

: 10§; 1149 new_valdesc: REF dbg$valdesc, ! A copy of a value descriptor
3 }822 }}g? new_varname, : Pointeritgla copy of the

: : variable name

: 10 9 115; symid_Llist, ! Points to a List of symids
3 }8 . }}5‘ upper_bound, t An i?tege; uish the upper
2 . o0p boun

3 }8 9 }}55 valdesc: REF dbg$valdesc, ; i po}:;o:i;goa value

: : 3 -

;100 115? var_node: REF dbg$noun_node, ! The noun node with the loop

———
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12-509-19 4 01:18:37 AX=11 Bliss=32 v&.0-74 Page 30
14 509-1936 ?1:16:?9 DEBUG.SRCSDBG!FTHEN.BB '} . (g)
: variable
var_name: REF VECTOR[,BYTE], The counted string with the
- variable name
vax_desc: dbg$stg_desc; . Target of the conversion from
: he value descriptor
: representing the count.

; Recover the noun nodes.

var_node = ,verb_node [dbgtl_vorb_obiost-ptr]:
var_name = ,var_node [dbg$l_noun_valuel;
bouRds_node = .var_node Ldb3s$l_ndun_Link);
valdesc = ,.bounds_node [dbggl noun_valuel;
action_node = .bounds_node d?gtl noun_Link];
action_string = ,action_node [dbg$L_noun_valuel;

! Set up the vax descriptor for the bounds.

! This vax descriptor is of type intc?or longword, and is used to convert the
! Language specific value descriptor for lLoop bounds to an

; integer quantity that we can use in a language-independent way.

vax_desc [dscSb_class) = dscSk_class_s;
vax_desc [dscSb_dtypel = dscSk_dtype_L;
vax_desc [dscSw_length) = &;

vax_desc [dsc$a_pointer] = louer-bound:

; Do the conversion from value descriptor to integer.

IF NOT dbgSntype_conv (.valdesc
dbgtt_dofcult.
dbg$k _vax_desc,
vax_desc,

. .message_vect)
RETURN sts$k_severe;
! Do the conversion again, this time picking up the upper bound.

THE

]
vax_desc [dsc$a_pointer] = upper_bound;
If ROT dbg$ntype_conv (.bounds_node [dﬁgtl_noun_valueZJ.
dbg$k_default,
dbg$k_vax_desc,
vax_desc,
.message_vect)

N
RETURN sts$Sk_severe;
; Do the conversion once again, this time with the loup increment.

%:E“bounds_node [dbg$l_adjective_ptrl] EQL 0
loop_incr = 1
ELSE
BEGIN
vax_desc [dsc$a_pointer) = loop_incr; s
IF ROT dbg$ntype_conv (.bounds_node [dbgtl-ad)ect1ve_ptrl.
dbg$k _default,
dbg$k_vax_desc,

THE




H &
GIF THEN 16=Sep=1984 01:18:37 AX=11 Bliss=32 v4.0-74 P 1
38‘-000 14~ og-19gk ?2:16:;9 DEBUG.SRCIDBGIFTHEN.B3Z;:1 o (g)

vax_desc,
.message_vect)
THE

N
> RETURN sts$k_severe;

; If the Lloop increment is zero then signal an error.
if .loop_incr EQL O
THEN
SIGNAL (dbg$_Lloopincr);
; I1f the upper bound is below the Lower bound, do nothing.

If (.loop_incr GTR 0 AND .upper_bound LSS .lower_bound)
?:Eé.loop_incr LSS O AND .upper_bound GTR .lower_bound)

RETURN sts$k_success;
; Make a value descriptor for the initial value of the lLoop variable.

3BIFIRI2I33

WA U LN U N N LN N NN PO PN PO NI PO RO NN = b b b b

new_valdesc = dbgtaet,nonory (dbg$k_valdesc_base_size+4);
new_valdesc[dbgSw_dhdr_Llength) = (dbg$k_valdesc_base_size + 4) + 16;
new_valdesc[dbgSb _dhdr_type] = bgtk-vatue_desc:
new_valdescldbg$b_dhdr_Llangl = .d atgb_languago:
new_valdesc(dbg$b_dhdr_kin k_data;
new_valdesc[dbg$b_dhdr_fcode] = rst$k tyge-atonic:
new_valdesc([dbgSb_valué_class) = dscSk_class_s;
new_valdescldbg$b_value_dtypel = dscSk_dtype_L;
new_valdescldbgSw_value_Length] = &;
new_valdesc(dbg$l_value_pointer] = new_valdesc(dbg$l_value_value0];
new_valdescldbg$l_value_value0] = .lower_bound;

= rst

! Also make a copy of the variable name. This is because the original
! varname pointer is being saved away by dbgS$ncis_add and we don't
; want to free it twice.

new_varname = dbgigeE memory (1¢.var_name[01/4);
ch$move (1+.var_name(0), .var_name, “new_varname);
IF NOT dbg$def_sym_add (.new_varname, define_value,
.new_valdesc,
FALSE, dummy, .message_vect)
THEN
RETURN sts$k_severe;

! Add a Link to the command input stream, containing the action
; string and the upper bound.

Fe N - - IV IV AV AV IV IV Y O S S SF S S S S S P

IF NOT dbg$ncis_add (action_string(1], .action_string(0], cis_for,
THE .upper_bound, .var_name, .loop_incr, .message_vect)

N

RETURN sts$k_severe;
; Return success.
RETURN sts$k_success;
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(ROT, VAR noos

(VAR NODE) VAR NAME

8 (VAR nooei BOONDS uooe

(BOUNBS NODE), VALDESC

a (BOUNDS NODES, ACTION NODE
ACTION RODE), ACTION_STRING

1 301503 VAX_DESC

LOWER_BOUND, VAX_DESC+4

nsssAGE VECT, R8”

R

VAX

l 3

DESC
130, -(SP)

oe C
:3' Dgcsurvpe_couv
g:ﬁea BOUND, VAX_DESC+4

X _DESC
0130 -(SP)

g(BOUNDS NODE)
DBGSNTYPE -CONV

?géouuos NODE)
3;. LOOP_INCR
kgov INCR, VAX_DESC+4

VAX DESC
0130 -(SP)

‘(BOUNDS NODE)

05 gBGSﬂTVPE CONV
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G1F THEN
V04000

; Routine Size:

6A

320 bytes,

1
1
6t 04 A§ 31 :g
°°§s 37 Soh
5 93 o0k
6E 04 A§ D1 8
3 14 00083
000000006 29 a ; 8829
67 0 s OOCg
8§ A7 TA £ 88(6
A7 000000806 0 9 Cg
06 A7 86 2 F 80 000D
14 A7 01080004 F DO 000D9
18 A7 20 A7 98 0851
20 A7 6t 8 00E6
50 66 9A 8OOEA
50 04& (€6 000ED
01 AD 9OF OOOFg
000000006 00 1 FB 000F
SA 0 o0 800FA
3 é8 3 oord
66 i 38 onio;
o 2 B soict
76 84 d0ice
0S oD 8010F
SA DD 00111
000000006 00 06 Fg 80113
18 50 E 011A
58 0D 0011D
0240 8F BB 801lf
LR
TE 68 gC 0128
02 AB 9F 00128
000000006 00 27 Fg 01 E
04 0 E 01
50 04 0 001
50 01 8 0}
20 08

Routine Base:

-

DBGSCODE + 046C

e

O oo
"

AX=11 Bliss=32 V‘.O-?‘S
32:1

8:37
:16:59 DEBUG.SRCIDBGIFTHEN.B

§ppen_aouno. LOWER_BOUND

R9
PPER_BOUND, LOWER_BOUND

ne

#1, DBGSGET _MEMORY
RO, NEW _VALDESC

z? (gEUEVALDESC)

DB _LANGOAGE, 3(NEW_VALDESC)
" s(usu VALDESC)

#17301508, 20(NEW_VALDESC)

32 (NEW VALDESS). 24 (NEW_VALDESC)
LOWER_BOUND, 32(NEW_VALDESC)
(VAR“gAHE). RO

125
1(RO)
#1, DBGSGET_MEMORY

RO, NEW_VARRAME
(VAR_NARE), RO

R
RO, (VARNAME), (NEW_VARNAME)

-(SP)
NEW_VALDESC
ki

NEW_VARNAME
#6."DBGSDEF _SYM_ADD

.

R
#*M<R6,R9>
2;PER_BOUND

(ACTION STRING), =(SP)
2(ACTIOR STRING)

#7, DBGSRCIS_ADD

RO, 9%

#4. RO

#, RO
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10-3ep-198¢ 92:18i30  YDEale.SR{TDacieTHeR.035: 1 Page 35
?LOBAL ROUTINE dbg$nparse_repeat(input_desc, verb_node, message_vect) =
Functional Description
ATN parse network for the REPEAT verb.
This routine takes a verb node for the REPEAT verb, and a string

descriptor for the remaining (unparsed) input.
A command execution tree is built. The form of the tree is:

i verb node ==>== noun node :==>== noun node !

The first noun node points to a value descriptor for the count.
The second noun node points to a counted string with the action clause.

Formal Parameters

input_desc - A longword containing the address of the
command input descriptor.
verb_node = A longword containing the address of the verb node.

message_vect = The address of a longword to contain the address
of a standard message argument vector.

Implicit Inputs
none
Implicit Outputs

On success, the command execution tree is constructed. v
On failure, a message argument vector is constructed or obtained.

Routine value

sts$k_success (1) = Success. Command execution tree constructed.
sts$k_severe (&) = Failure. Error encountered. Message argument
constructed and returned.

Side Effects

Permanent storage is allocated for the string holding the action
clause; this is released in DBGSNEXECUTE_REPEAT after execution

i
i
i
i
i
i
]
i
i
\
i
i
i
i
1
i
i
i
i
i
i
!
]
i
i
]
i
H
i
i
]
i
i
i
i
i
i
i
i
i
i
; of the action clause.

BEGIN

MAP
input_desc : REF db?Sstg desc,
verb_node : REF dbgSverb_node;

BIND
dbg$cs_cr = UPLIT BYTE (1, dbg$k_car_return),
dbg$cs_Lleft_paren = UPLIT BYTE (1, gba$k,loff_paronthes1s).
dbg$cs_do = UPLIT BYTE (2, *p0%);




4 ‘
DBGIF THEN 13-50 -1984 01:18:37 AX=11 Bliss=32 v4.0-74 P 5
VSG-OOO 1 -503-1886 ?2:16:;9 DEBUG.SRC DBGIFTHEN.BSS:I e (3):

1205 LOCAL
1 link, ! Temporary to hold Links in the command
- execution tree.
noun_node : REF dbg$noun_node, ! A node in the command execution tree.
radix, ! Holds the current radix setting.
status; ; Holds {tturn status from subroutine
: calls.

; Create and Link a noun node

noun_node = dbgSget_tempmem(dbg$k_noun_node_size);
vorb,nodo[dbgi?-SQr ob?:ct,ptgg £ .noun_node; |

ENENE0-
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: Determine the current radix. ;
radix = .dbgSgb_radix[dbgsb_radix_inputl; |

! Obtain a value descriptor for the count. The first noun node
5 points to this descriptor.

STATUS = DBGSNPARSE_EXPRESSION(.INPUT_DESC, .RADIX,
NOUN_NODE “[DBGSL NOUN_VALUE],
TOKERSK_TERM_DO, ~.MESSAGE_VECT);

NSNS = OO 00 NO NS AN = O

! The return status should be '‘warning'’, meaning that an expression

! was parsed and further input reamins., [f an eugrossion was parsed

: but no input remains, then DBGSNPARSE _EXPRESSION will return success.
- {n this context, it is an error since  'REPEAT count' by itself

! is an error.

NONINOND
NN AN NI PRI NI NI NI NOIRNININ) = e e ed cd cd e o b

F .status EQL stsSk_success
HEN

S LN L NT NN LN LN LN LN LN LN LN LN DSOS LS LN LN LN LN LS TS TS T ST NT N TN T ST NT NT ST N

— il i ) il -l - ) D el ) ) b - ) ) - b ) -l D - el D e ) ) D ) D D D il D D il ol D D D e D e D D e D D e i D D i

BEGIN
40 .message_vect = dbg$nmake_arg_vect (dbg$_needmore);
2% gs;unu stsSk_severe;
‘ L
22 69 E Severe status is also an error.
46 7 IF .status EQL sts$k_severe
&7 7 THEN
23 ;‘ RETURN sts$Sk_severe;
g? ;S ; Eat the DO.
Si 7 IF NOT dbg$nmatch (.input_desc, dbg$cs_do, 1)
S 78 THEN
54 79 BEGIN
55 0 .nessa?o vect =
g 1 (%"EngSnnatch (.input_desc, dbg$cs_cr, 1)
gs s ELSgngnnako-arg_voct (dbg$_needmore)
60 S dbatnsyntax-error (dbg$nnext_word (.input_desc)));
61 86 RETURN stsSk_severe;




LI
GIF THEN 16=Sep=1984 01:18:37 AX=11 Bliss=32 v4.0-74 Pa 6
384-000 14 5:3-1986 ?2:16:29 DEBUG.SRCSDBG(FTHEN.BS 31 - (g)

: } gi } 7 END;

3 } gg } % ; Allocate and Link a noun node for the action clause.

: 1 69 1391 Link = noun_node [dbg$l_noun_Llink];

: 126 1 9; noun_node = dbg$get_tempmem(dbg$k_noun_node_size);

: } 63 } 34 link = .noun_node;

S } 7? } 35 : Eat the left parenthesis which we require be present.

3 &Y 1 9? IF_NOT dbg$nmatch (.input_desc, dbg$cs_Left_paren, 1)

s 127 1398 THEN

: 1274 1399 BEGIN

: 1275 1400 .nessa?o vect =

;127 1401 & (IF dbg$nmatch (.input_desc, dbgScs_cr, 1)

: 127 160§ 4 THEN

; 1278 1405 & dbg$nmake_arg_vect (dbg$_needmore)

: 1279 1404 & SE

: 1280 1405 5 BEGIN

; 1281 1406 5 SIGNAL (dbg$_needparen);

3 } g }28‘ é dg ?nsyntax_error (dbgénnext_word (.input_desc))

: 1284 1409 RETURN sts$k_severe;

; 1285 1410 END;

: 1%86 1411

; 1287 1415 ! Put a pointer to the counted strin? representing the action
: 1288 141 : clause into the second noun node. (Note = the counted string
: 1289 14614 ! is constructed out of ‘‘permanent’’ memory which is released

3 1%90 1415 ! in DBGSNEXECUTE_REPEAT).

;12N 1416 ! The third argument indicates that save break_buffer is not being
: 129§ 14617 ! called durin? parsing of a SET BREAK DO (The routine behaves
3 }%3‘ ]2}3 ! slightly differently in that case)

3 }%32 }2%? dbg$nsave_break_buffer (.input_desc, noun_node [dbg$l_noun_valuel);
: 1297 14 g ! Return success.

: 1298 142 !

3 1%99 1424 RETURN stsSk_success;

; 1300 14%5

; 1301 1626 1 END;

.PSECT DBGSPLIT ,NOWRT, SHR, PIC,0

o0 01 800 P.AAD: .BYTE 1, 13 :
28 01 00028 P.AAP: .BYTE 1, 40 :
02 800 A P.AAQ: ,BYTE 2 :
&F &4 00028 LASCII  \DO\ 3
DBGSCS_CR= P.AAD
DBGSCS LEFT_PAREN= P.AAP
DBGSCS_DO= P.AAQ

.PSECT DBGSCODE .NOWRT, SHR, PIC,0
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9 DEBUG.SRCIDBGIF THEN.B3Z; 1
BGSNPARSE REPEAT, Save R2,R3,R4,RS,R6,R7
BGSGET _TEMPMEM, R7

BGSNMATCH, Ré
'gescs CR, RS

#1, DBGSGET TEMPMEM

RO, NOUN_NOB

VER 3

8_NODE, RO
NOUN"NODE, 8(RO)
DBGSBB _RADIX, RADIX
’ESSAGE-VECI

#*M<RO,R4>
aurut,6esc. R2

li. DBGSNPARSE _EXPRESSION
RO, STATUS
3;ATUS. "

STATUS, #4
6$

"
ggcscs,oo

#35, DBGSNMATCH
RO, 1§

#*M<R2 ,R5>
#3, DBGSNMATCH
0, 4%

$
éznA). LINK
#1, DBGSGET_TEMPMEM
RO, NOUN_NODE
ggun_uooe. (LINK)
ggGSCS,LEFT-PAREN
#3, DBGSNMATCH
RO. 73
"
#*M<R2,R5>
:;. gésnnArcu

164048
g;. DBGSNMAKE _ARG_VECT

#165699
:1. LIBSSIGNAL

#1, DBGSNNEXT_WORD

#1, DBGSNSYNTAX ERROR
RO, =SESSAGE,VECI

LA A LR LA T A LA E LA LR LR IR R R L L R R N R R RE  E  E  E T T E I EaE T T T T s s s s oo s v v A PR TR TR TR TR TR TR T

e

1273

1341

A )
W W
VAVA VWA
= NWO

1362
1371
1377

1381

- b b
NN

O O 00
N =

NN
00
~Ni

— —d

1401

1403

1606
1407

—
o
22



p—

oL

; Routine Size:

209 b,t.‘ .

000000006 gg

Routine Base:

z-So -1
1 -509-1

14 g! §§E: 7$:
i 1 g
& 00000
DBGSCODE + 05AC

o8 9218

PUSHR
CALLS
MOVL
RET

gr AX=11 Bliss=32 v
b DGDUG. 861?
# M<R2 ,R4>

c{. osésusnve BREAK_BUFFER
",

-7‘ Pa 8
EN.B3Z2;1 e (g)g
: 1620
Y1626

1426
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GIFTHEN 16-500-1986 01:18:37  VAX=11 Bliss=32 Vé.0-7% Page 39
Y0600 1001080 90:10:30 Poraud. Shinsactned-iss. % 13

} 02 }: 7 } ?E?‘AL ROUTINE dbgSnexecute_repeat (verb_node,message_vect) =

} S }2 § } ; Functional Description

1 8 1431 1! This routine performs the action associated with the REPEAT

1308 14 i ]! command.

1309 14 13

1310 16436 1 ! Formal Parameters

1311 1435 1!

1 1§ 14 ]} verb_node - A lon?uord containing the address of the

13 14 ] 3 head (verb) node.

1314 1438 1! message_vect = The address of a Longword to contain the

} }S }:‘3 } ; address of an error message vector

1 19 1441 1 ! Implicit Inputs

1318 16&; ] ! -

1319 16463 1! The command tree contains a verb node and a linked list

1320 1466 1! of two noun nodes. (See the diagram in the header for

1321 1465 1! DBGSNPARSE _REPEAT).

1 i 144? 1!

1 1447 1 ! Routine Value

1 %G 1448 1!

1325 1469 1! A completion code.

1326 1450 1! )

1327 1451 1 ! Completion Codes

1328 145§ Y !

1329 1455 1! sts$k_success (1) = Success. Command executed

1330 16454 1! stsSk_severe (4) - Failure. The command could not be

1331 1455 1! executed. An error message is constructed.
1 g 1&5? ¥ 3

1 1457 1 ! Side Effects

1334 1653 ] !

1335 1459 1! None

1 39 1460 1 !==

1 g 1461 BEGIN

1338 166§

1339 146 MAP

} ? }22; verb_node : REF dbg$Sverb_node;

1§%§ 1669 LOCAL :
1 146 action_node: REF dbg$noun node, ! The noun node for the action clause
1344 1468 action_strina: REF VECTORC,Q0RD], ! Counted string with the action clause
1345 1469 count_node: REF dbg$noun_node, ! The noun node for the count
1 9 1470 count _value, ! The actual count

1 1471 vax_desc: dbg$stg_desc; ! Target of the conversion from
1348 167; : he value descriptor
1349 147 ' representing the count.
1350 1474

1351 1475 ! Recover the noun nodes.

1 S; 1579 : 3

135 147 count_node = .verb_node td?atl verb_oblgct ptrl;

} gg }:;3 action_node = .count_node [dbg$L_noun_Link];

1 59 1‘30 ! Set up the vax descriptor for the count,

135 1481 ! This vax descriptor is of type inte?or longword, and is used to convert the
1358 1&8; ! Language specific value descriptor for a count to an

1359 14 ! integer quantity that we can use in a lLanguage-independent way.
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GIF THEN 16=Sep=-1984 01:18:37 AX=11 Bliss=32 v Pa 40
386 14-509-1936 ?2:16:;9 DEBUG.SR CSDBGIF 83 1 o'(10)
: 1 14684 :
: 3 1485 vax_desc [dsc$b Jclass] = dscSk_class_s:
: 1 14 vax_desc [dscSb_dtype) = dscSk_dtype_L:
: 14 vax_desc [dscSw_length) = &;
3 } }2 s vax_desc [dscSa_pointer] = count value;
: ) 14 ! Initialize count_value to 0
: 1 16491 !
3 } }:gg count _value = 0;
3 } }:gg : Do the conversion from value descriptor to boolean,
i 14 IF NOT dbg$ntype_conv (. count node [dbg$l_noun_valuel,
: 1 1‘89 s dbgSk_default, '
3 % 1498 dbg$k “vax_desc,
3 3 1499 vax_desc,
: 9 1200 .message_vect)
.3 1501 THEN
: 1 150; RETURN stsSk_severe;
. 150
: } }ggg ; Recover the string.
: }38 };89 action_string = .action_node [dbg$l_noun_valuel;
; 1384 1508 ! Add a link to the command input stream, containing the action
: } S }ggg i string and the repeat count.
; 1387 151 lF NOT dbg$ncis_add (action_stringl1], .action_string[0], cis_repeat,
; 1388 151§ .count_value, 0, 0, .message_vecty
: 1389 151 THEN
: 1390 1514 RETURN sts$k_severe;
: 1;91 1515
s 9 9§ 151? ! Return success.
3 1;9 151 :
: 139 1518 RETURN sts$k_success;
: 1395 1519
; 1396 1520 1 END; ! dbgSnexecute_repeat
0006 00000 ENTRY DBGSNEXECUTE_REPEAT, Save R2 : 1627
gs 10 8 8800 SUBL2 #16, SP : -
04 AC DO 0000 MOVL veng NODE, RO P 1477
20 8 AO DO 00009 MOVL ¥ COUNT_NODE :
2 8 A0 DO 00000 MOVL sggﬂT NODEY, ACTION NODE : 1478
04 AE 01080004  8F g " MOVL 508, VAX_DESC ; 1487
08 AE 6 9¢ 00019 MOVAB COUNT VALUE VAX_DESC+4 : 1488
6 D& 0001D CLRL COUNT TVALUE : 1488
08 AC DD 1f PUSHL  MESSAGE _VECT : 15
og AE 9F oog PUSHAB VAX DEST : 1496
7€ 8 F 9A MOVZBL 0130 -(SP) :
1 DD PUSHL :
2 PD PUSHL g :
000000006 00 fg 0 CALLS l DBGSNTYPE CONV :
10 0 E BLBC 3




Routine Size:

: 1397

1398

DBGSPLIT
DBGSCODE

File
Qs $DUA28: E
b3

55
55
_$255
55
55
55

%%

S$DUAZS8:
$DUA28
$OU
$DUA
$DUA

Ashit

lnfor-otion:
warnings:
Errors:

50 62 00

08 AC DO

e 7C

0C AE DD

04 DD

7E é C
02 A 4
000000006 00 F
4 0 E
0 ¢ D

04

50 01 82 8

92 bytes, Routine Base: DBGSCODE + 067D
1551 1 END
1522 0 ELUDOM
PSECT SUMMARY
Bytes
45 NOVEC,NOWRT, RD ,
1753 NOVEC,NOWRT, RD ,
Library Statistics
eeeeeeee Symbols
Total Loaded
SYSLIBILIB.L32;:1 18619
DEBUG.0BJ)S TRUCDEF 532 1 3 9
DEBUG.0BJ)DBGLIB.L 3 154 9
DEBUG.0BJIDSTRECRDS.L32;:1 o
oeauc.oanoacnsc.Lgs: 323 5
DEBUG.0BJIDBGGEN.L32; 1 0

S
12 Sep-1984 01:18:37 AX=11 Bliss=32 v4.0-74
14~ se3-1354 ? :16:29 DEBUG.SRCIDBGIF THEN.B3Z; 1
§;: MOVL (ACTION_NODE), ACTION_STRING
& PUSHL  MESSAGE _VECT
CLRQ -(SP)
8 f PUSHL  COUNT_VALUE
63 PUSHL L2
4 MOVZWL (ACTION _STRING), =(SP)
§67 PUSHAB 2(ACTIOR STRINGS
LA CALLS #7, gacsﬂcxs,Aoo
051 BLBS RO, 2§
ng 18 MOVL #, RO
057 RET
858 2% MOVL #1, RO
S8 RET
LEXTRN LIBSSIGNAL
Attributes
EXE, SHR, LCL, REL, CON, PIC,ALIGN(O)
EXE, SHR, LCL, REL, CON, PIC,ALIGN(D)
-------- Pages Processing
Percent Mapped Time
0 100 00:01.8
0 00:00.1
6 97 00:01.9
0 N 80:80.6
0 25 0: 0.;
0 1 00:00.

Page
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L
L

C

£ s
1F THEN 16-5¢0-1 AX=11 B .0-74
-000 10-3e001080 90:10:30 PoFaud ShissacteYnen 238,y
COMMAND QUALIF IERS
BLISS/CHECK=(FIELD, INITIAL,OPTIMIZE)/LIS=L]ISS:DBGIFTHEN/OBJ=0BJS:DBGIFTHEN MSRCS:DBGIF THEN/UPDATE=(ENNS:DBGIF THEN)

Size: 1753 gg’o + 45 data bytes

un Time:

Lapsed Time: 3.

ines/CPU Min: g&

exemes/CPU-Min: 11235
{ Used: 186 pages

ompilation Complete
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